Assumptions:

1. Blade orice loss occurs such that projectile is thrown at a 45 degree inclined angle (see
sketch following page).

2. Airresistance is neglected, which is very dependent upon the nature of the fracture and
how the blade is liberated whether it goes end over end rapidly, slowly, or flies like an
arrow.

3. Blade loss assumes fracture at root, blade velocity at centroid (as opposed to center of
gravity).

Reference:

Engineering Mechanics: Dynamics, Bela |. Sandor, Prentice-Hall, Inc., 1983, page 537.
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